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#include <bits/stdc++.h>
using namespace std;

int fa[leee10];

void init(int n){

for(int 1 = 1; i <= n; i ++ ){
fa[i] = i;

int find(int x){
if(fa[x] == x){
return X;

return find(fa[x]);

void merge(int x, int y){
int fx = find(x);

int fy = find(y);
if(fx = fy){
fa[fx] = fy;
}
}
int main(){
int n, m;
cin >> n >> m;
init(n);
while(m -- ){
char op;
int a, b;

cin >> op >> a >> b;
if(op == "M"){
merge(a, b);
} else {
if(find(a) == find(b)){
puts("Yes");
} else {
puts("No");

return 0;
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#tinclude <bits/stdc++.h>
using namespace std;
int fa[lee010];

void init(int n){
for(int 1 = 1; i <= n; i ++ ){
fa[i] = i;

int find(int x){
if(fa[x] == x){
return x;

}
return fa[x] = find(fa[x]);

void merge(int x, int y){
int fx = find(x);
int fy = find(y);
if(fx = fy){

fa[fx] = fy;

int main(){
int n, m;
cin >> n >> m;
init(n);
while(m -- ){
char op;
int a, b;
cin >> op >> a >> b;
if(op == "M"){
merge(a, b);
} else {
if(find(a) == find(b)){
puts("Yes");
} else {
puts("No");

return 0;






#include <bits/stdc++.h>
using namespace std;

int fa[leee10];
int sz[100010];

void init(int n){
for(int 1 = 1; i <= n; i ++ ){
fa[i] = i;
sz[i] = 1;

int find(int x){
if(fa[x] == x){
return x;

}
return find(fa[x]);

void merge(int x, int y){
int fx = find(x);
int fy = find(y);

if(fx == fy){

return ;

}

if(sz[fx] > sz[fy]){
swap(fx, fy);

}

fa[fx] = fy;

sz[fy] += sz[fx];

int main(){
int n, m;
cin >> n >> m;
init(n);
while(m -- ){
char op;
int a, b;
cin >> op >> a >> b;
if(op == "M"){
merge(a, b);
} else {
if(find(a) == find(b)){
puts("Yes");
} else {
puts("No");



return 0;

}
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#include <bits/stdc++.h>
using namespace std;

int fa[leee1e0];
int sz[100010];

void init(int n){
for(int 1 = 1; i <= n; i ++ ){
fa[i] = i;
sz[i] = 1;

int find(int x){
if(fa[x] == x){
return x;

3
return fa[x] = find(fa[x]);

void merge(int x, int y){
int fx = find(x);
int fy = find(y);
if(fx == fy){

return ;
}
if(sz[fx] > sz[fy]){
swap(fx, fy);
}
fa[fx] = fy;
sz[fy] += sz[fx];

int main(){
int n, m;
cin >> n >> m;
init(n);
while(m -- ){
char op;
int a, b;
cin >> op >> a >> b;
if(op == "M"){
merge(a, b);
} else {
if(find(a) == find(b)){
puts("Yes");
} else {
puts("No");



}

return 0;

}
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#include <bits/stdc++.h>
using namespace std;

int fa[leee1e0];
int sz[100010];

void init(int n){
for(int 1 = 1; i <= n; i ++ ){
fa[i] = i;
sz[i] = 1;

int find(int x){
if(fa[x] == x){
return x;

3
return fa[x] = find(fa[x]);

void merge(int x, int y){
int fx = find(x);
int fy = find(y);
if(fx == fy){

return ;
}
if(sz[fx] > sz[fy]){
swap(fx, fy);
}
fa[fx] = fy;
sz[fy] += sz[fx];

int main(){
int n, m;
cin >> n >> m;
init(n);
while(m -- ){
string op;
int a, b;
cin >> op >> a;
if(op == "C"){
cin >> b;
merge(a ,b);
} else if(op == "Q1"){
cin >> b;
if(find(a) == find(b)){
puts("Yes");
} else {



puts("No");

}
} else {
cout << sz[find(a)] << '\n';
}
}
return 0;
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#include <bits/stdc++.h>
using namespace std;
int fa[2e0010];

void init(int n){
for(int 1 = 1; i <= n; i ++ ){
fa[i] = i,

int find(int x){
return (fa[x] == x) ? x : (fa[x] = find(fa[x]));

void merge(int x, int y){
int fx = find(x);
int fy = find(y);
if(fx = fy){

fa[fx] = fy;

int main(){

int n, m;

scanf("%d %d", &n, &m);

init(n);

while(m -- ){
int x, y;
scanf("%d %d", &x, &y);
merge(x, y);

}
int q;
scanf("%d", &q);
while(q -- ){
int x, y;
scanf("%d %d", &x, &y);
if(find(x) == find(y)){
puts("Yes");
} else {
puts("No");
}
}
return 0;
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#include <bits/stdc++.h>
using namespace std;

int fa[20010];

void init(int n){

for(int 1 = 1; i <= n; i ++ ){
fa[i] = i;

int find(int x){

return (fa[x] == x) ? x : (fa[x] = find(fa[x]));

void merge(int x, int y){
int fx = find(x);
int fy = find(y);

if(fx = fy){
fa[fx] = fy;
}
}
int main(){
int n, m;
scanf("%d %d", &n, &m);
init(n);
while(m -- ){
int x, y;

scanf("%d %d", &x, &y);
merge(x, y);

}

int ans = 9;

for(int 1 = 1; i <=n; i ++ ){
if(fa[i] == i){

ans ++;
}
}
printf("%d", ans);
return 0;
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#include <bits/stdc++.h>
using namespace std;
int fa[lee10];

void init(int n){
for(int 1 = 1; i <= n; i ++ ){
fa[i] = i;

int find(int x){
return (fa[x] == x) ? x : (fa[x] = find(fa[x]));

void merge(int x, int y){
int fx = find(x);
int fy = find(y);
if(fx = fy){

fa[fx] = fy;

}
}
int main(){
int n, m;
while(cin >> n >> m, n || m){
init(n);
for(int i = 1; i <=m; i ++ ){
int x, y;
std::cin >> x >> y;
merge(x, Y);
}

if(m > n - 1){
puts("No");
continue;
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int ans = 9;

for(int 1 = 1; i <=n; i ++ ){
if(fa[i] == i){

ans ++;

}

}

if(ans == 1){
puts("Yes");

} else {
puts("No");

}



return 0;



